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L. Air is a mixture of gases. _ =
What information best describes its composition?
% oxygen % nitrogen | % carbon dioxide | % rare gases

A 78.10 20.90 0.03 097

B 20.90 7810 . 097 . 003
o 209 . | 78.10 . 003 097
D 0.97 0.03 78.10 20.90

2, Water sources in The-Bahamas are described as being hard water,

Which chemical compound can be added to this hard water to soften jt?

A a synthetic detergent

B magnesium sulphate
C potassium chloride
D sodium carbonate -
3. What is the most e&'iéicnt but least economic method of removing hardness from
water? '
A centrifuging
B decantation
C distillation
D filtration
4, Heating a liquid causes it to become a vapour,
What happens to the molecules of the liquid during this process?
A They become bigger. _ ’
B They become smaller.
c They move closer together.
D They move further apart.

- 7059 _ _ [Turn over



5. ~ Which pair of physical changes are both endothermic?
A condensation and sublimation
B condensation and freezing
C melting and evaporation
D melting and freezing

Use the information below to answer questions 6 and 7.

When copper carbonate is heated, a black substance is produced and  heavy
gas that turns lime water cloudy is given off.

6. Heat causes solid copper carbonate to
A melt,
B decompose,
3 sublime,
D expand.
7. Which gas is produced? -
A carbon monoxide -
B carbon dioxide
C hydrogen
D oxygen
8. A student places one drop of food colouring into a beaker of cold water. After 2-3
minutes it is observed that the food colour spreads throughout the water. Which
process has occurred?
A crystallization
B convection
C diffusion
D evaporation

7059




-5-

9. Which facts about hydrogen chloride gas (HCE) are correct?

1 It has no smell.
2 It is soluble in water.
3 It reacts with ammonia.

A 1 only ,
B 1 and 2 only
C " 2and3only
D 1,2and 3

Questions 10 — 13 refer to the information given in the table.

element | melting point °C , | . boiling point /°C electrical conductivity
A 114 183 poor

B | o1 Ca3s | poor

c 38 357, . o .'goodl

D | 1083 T ¢ . gool

The choices A, B, C and D may be used once, more than orice or not at all,

Which element

0. could be used for electrical wiring? A B C D
11.  isagas é; room temperature? L "A B'C D
12. is a liquid over the smallest temperature range? A B C D
13.  ’isasolid l;lon-mctal at room temperature? A B C D

14, Which particles have approximately the same mass?

electrons, protons and neutrons
neutrons and electrons

protons and electrons

protons and neutrons_

OOw)
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15.

16. -

; & 8

18.

7059
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What is the correct formula for a copper atom that has lost two electrons?

A Co*

B Co*
C Cu®*
D~ Cu#®

An atom of beryllium has five neutrons in its nucleus and two electrons in each of

the K and L shells.
What is the atomic mass and the atomic number for bcryllmm?

an atomic mass of 4 and an atomic number of 9
an atomic mass of 5 and an atomic number of 4
an atomic mass of 9 and an atomic number of 5
an atomic mass of 9 and an atomic number of 4

UQw»

What is the correct name for the formula CH,COONH,?

A ammonium carbonats
B ammonium ethanoate
C ammonium hydroxide
D ammonium methyl dioxide

Facts about a chemical substance may include the following:

1 the number of atoms in a molecule
2 . the arrangement of the atoms in the molecule
3 the relative molecular mass

Which of these facts may be deduced from the structural formula of the substance?

A 1 only

B 1 and 2 only _

C 2 and 3 only - ‘
D 1,2and 3




19,

20.

21,

22,
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Which group of elements from the Periodic Table, when placed in-water, will each
turn litmus blue?

A alkali metals

B halogens

C noble gases

D transition elements

Given the equation
3H,(g) + N;(g) — 2NH,(g)

How many litres of hydrogen are required to produce 24 litres of ammonia?

A 2
B 3
C 24
D 36

Which statement about oxygen is false?

Air is made up of about one-fifth oxygen,

A

B Oxygen burns by itself. ‘
C Oxygen is an odourless and colourless gas.
D

Oxygen supports combustion.

Which elément has chemical properties miost ‘similar to the chemical properties of
chlorine? :

A. iodine
B ‘oxygen
C sulphur
D

sodium

Which metal reacts with a solution containing zinc ions?

A copper

B ‘magnesium
C nickel

D silver

[Turn over
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26.

27.
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Which pair-of substances cannot be separated by sublimation?

ammonium chloride and potassium chloride
ammonium chloride and sodium chloride
sand and iodine

sodium chloride and zinc oxide

UnQwp

The combination of an element A with an element B to form a new compound AB is

called a synthetic reaction.
What name is given to the reverse reaction?

A decomposition

B double displacement
C single displacement
D synthesis

A compound has the formula ABC,. A, B and C are not the usual symbols for the
elements it contains. '

The equation shows the action of heat on ABC,
| xABC; —> yAB + zC,

What are the values for x, y and z in the balanced equation?

x y z
A 1 1 1
B 2 1 3
C 2 2 3
D 2 3 1

What is the chemical classification for washing soda?

A a carbonate
B a chloride

B an hydroxide
D an oxide



28.

29.

30.

3L

32.
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In a molecule of an-alkane, how many covalent bonds does one carbon atom form? -

Cawpy

Landll S B FL RN G

A physician has determined that a patient requires sodium therapy. He prescribes
585.0 mg of sodium chloride. i ) 4=

How much sodium is present in this dosage?

A
B
C

D

Uawx

230 mg
355 mg
230.0 mg
585.0 mg

Which compound forms a coloured aqueous solution?

CaC¢,, calcium chloride
CrC¢,, chromium(II) chloride
KBr, potassium bromide
NaOH, sodium hydroxide

Which is a statement of Avogadro’s Law?

all gases contain different numbers of molecules, irrespective of pressure and

A
temperature conditions : :

B only under equal volumes will all gases contain the same number of
molecules

c under identical temperatures and pressures, only certain gases contain the

' same humber of molecules. ’

D under identical conditions of temperature and pressure, equal volumes of all
gases contain the same number of molecules : :

What is the M, of Ca(OH),?

A 2

B 5

C 57

D 74

[Turn over



33.

34,

35.

36.

37.
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Calculate the percentage of iron in haematite (Fe,Q,) if the ra.m.s are 5
respectively.
A 70%
B 48%
Cc 35%
D 10%

H,0
Na,CO,

Plastics can become serious pollutants. Why is this? -

A they cannot be recycled

B they are non-biodegradable

C they are made from monomers -
D they are polymers

Which gases are pollutants and contribute to acid rain?

carbon monoxide and carbon dioxide

carbon monoxide and ozone

sulphur dioxide and oxides of nitrogen
. -ozone and methane

UQuw»

What is the name of the hydrocarbon having the molecular. formula C;H,,?

A butene
B butane /
C octene
D octane

6 and 16



38.

39.

41.

42,
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Which formula can have the-greatest number of isomers?

A GH;

B GH

c CsHs =
D GH, '

What is the mole ratio of CO, to C;H,,0, in this reaction?
6CO, + 6H,0 — CH,,0, + 60,

1:2

I:1

. 1:4
6:1

The molecular formula for ethyne is C.H,. The molecular formula of benzene is
C‘Hst ’ I . ;

What is the empirical formula for both ethyne and benzene?

A CH

B CH,
C  CH
D (CH),

During electrolysis of molten CaBr,, which of the following would be made at the

bromine_t
calcium
hydrogen

Ll

oxygen .

At which electrode do&é_fcducﬁqn occur?

A the anode only

B the cathode only

8 the anode or the cathode
D the half-cell

[Turn over



43.

45.

=] 2=

The higher-the pH of @ solution, the

A greater number of molecules of acid per dm? of solution.
B higher the hydrogen ion concentration.

C lower the acidity.

D stronger the acid.

Which of these materials is an example of an acid?

A lime juice

B lime water

C oven cleaner
D toothpaste

Magnesium dissolves in hydrochloric acid to produce magnesium chloride and

hydrogen gas.
In this reaction the reactants are
A hydrochloric acid and hydrogen gas.

B magnesium and magnesium chloride.
C magnesium and hydrochloric acid.

"D magnesium chloride and hydrogen gas.

Use the dlagram to answer questions 46 and 47.
The diagram illustrates the Nitrogen cycle.

Emissions Gascous Bactcna
: i A SSCS xauon
' p —__ Runoff
— . w i
tlon

. o Snaseol;m
ipitation .)’ ospheric g 3
Prcmpxtnﬂon Nm'c?gen = R

j .
3}‘“““3 Store

Fossil Fuel

Denityi Orgamc Matter Fﬂ,?‘l“un Leaching , Eutrophication
Plant 'NHZ) Mnerallzaﬁt:gm .
Consumption oniu
P ' (NH4) Leaching

N\ " Ninification
->Nitrates Nitrates o/
(NO;") “Nitrification (NQ{)‘_./
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-46. What is the conversion of nitrogen gas directly to an organic compound called?

A bacterial fixation
B denitrification

C leaching

D lightning fixation

47. In win'ch form do plants take in nitrogen through their root hairs?

A atoms

B bacteria
C ions

D - molecules

© 48.  Phosphoric acid has the formula H,PO,.

What is the correct formula for ammonium phosphate?

A (NH)PO,
B" (NH),PO,
C  NHPO,
D NH/PO),

49.  Which commercial process produces ammonia on a large scale?

A Contact process

B Haber process

C Polymerisation process
D Solvay process '

50. Which of the following could represent a pair of isotopes?

A B ad X
44
B 23Xand‘2‘3“x,_l

C ?:X and fgx

D 4% and ;‘:X

19
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In which state of matter, under the same conditions of tel
particles have the most energy?

molecules in a solid
molecules in a liquid
dissolved ions in a liquid
molecules in a gas

D w»

Which are pure substances?

A elements and mixtures

B compounds and mixtures
C elements and compounds
D

elements, compounds and mixtures

Which element is the most powerful oxidizing agent?

bromine
" chlorine

iodine

sodium

OO w»

Which of these oxides is acidic?

ALO,
K,0
MgO
so,

UQwp -

What is formed when sulfur dioxide dissolves in water?

A sulfurous acid
B sulfur trioxide

C hydrogen sulfide
D sulfuric acid

mperature and pressure, will

[Turn over



6. _ The table shows the pH of the solutions of four salts dissolved in water.
Which of the solutions is acidic?
pH of its solution in water
A ammonium chloride .3
B potassium chloride 7
C potassium nitrate ' 7
D sodium carbonate 9
T Which statement about both graphite and diamond is true?
A They have the same crystal lattice structure.
B They have the same degree of hardness.
55 They have the same electrical conductivity.
D They can undergo the same chemical reactions.
8. What is the formula for magnesium hydroxide?
A MgOH
B Mg(OH),
C Mg,OH
D Mg,(OH),
9. Which atom has the greatest number of electrons that can form bonds with other
atoms?
A Al
B P
c S
D Si
O []
10.  Which compound has the functional group — C Y in its molecule?
O ==
A carboxylic acid
B aldehyde
c ester
D ether

8022
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12

13.

14,

15.

16.

8022

Which compounds are isomers?

A 1-propanol and 2-propanol
B ethane and ethanol
methanoic acid and ethanoic acid

C
D methanol and ethanol

Which substance, in combination with an organic acid, forms an ester?

A an alcohol
B an alkane
C an ether
D

a ketone

Which formula represents an organic ester?

A - CH,CH,OH
B CH,OCH,
C  HCOOH

D. CHCOOCH,

Shown are four methods of separation, labelled A, B, C and D.

A chromatography
B distillation

C evaporation

D filtration

Which method of separation can be used to

obtain crystals of fertilizer from a mixture of

nitric acid and ammonia; A B
obtain pure water from seawater:; A B
analyse ink from a forged cheque? | A B

C D

C D

C D
[Turn over



17.

18.

19.

8022
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When copper is heated in a Bunsen flame it forms a black solid.

What is the name of this solid?
A copper oxide
‘B copper carbide

& copper hydroxide

D copper nitride

Which diagram represents a mixture of Ithc molecules of an element and the

molecules of a compound?

@®
0, 2, % o5

A

8 ° 8

@G:@

C

?

08.'80

P

B
OSO.
® ® O @

D

A student tests several solutions with Universal Indicator to see whether they were
acidic, alkaline or neutral. The results are shown in the table.

solution colour
solution W greenish-blue
solution X blue-purple
solutionY pinlcish-red
solution Z yellow-orange '

Which solution is nearest to neutral?

SESIR
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20. Which one of these descriptions is a physical change and not a chemical change?

cast iron solidifying from a blast furnace

burning petrol to form liquid water and carbon dioxide gas
shiny steel changing to a brown rust powder

zinc dissolving in hydrochloric acid

UNnwx

——

21. The graph shows the results of observing hot, liquid, pure wax, as it élowly cools to
room temperature,

Temperature
cooling curve of a liquid materjal

T, ' . |

T,

‘ T, —>

a b c d time

What can be deduced from thse results?

ato b, the wax is starting to freeze

b to c, the wax is changing state from liquid to solid
c to d, some wax is still liquid

the freezing point of the wax is Ty

OOwh

22 Which statement best describes what happens to water particles when the water
freezes? '

A they lose energy and escape into the atmosphere

B they lose energy and lose freedom to move about

& they gain energy and break up into atoms of hydrogen and oxygen
D they gain energy and gain freedom to move about

8022 [Turn over



23.

24,

25,

26.

8022

Which of these is an alkali in solution?

onwy

salt solution
battery acid

oven cleaner
lime juice

Which statement best explains why the gas pressure in a metal cylinder containing
oxygen gas increases when it is heated? '

A
B
&

D

the higher temperature makes some of the molecules split up
the molecules expand when they are heated and so take up more space
the higher temperature makes the molecules collide more violently with the

walls
the higher temperature makes the molecules attract each other

When solid P reacts with an acid, a colourless gas, Q, is given off. When gas Q is
bubbled into limewater, a white precipitate is formed.

What is solid P most likely to be?

ooOow»

a metal carbonate
a metal sulphate
a metal chloride
carbon

The equation is not balanced.

x Lim + yozm —_— zLiZO(s}

Which numbers for x, y and z balance the equation?

X y z
A 4 2 B
B 2 2 1
C 2 1 2
D 4 1 2
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28.

29.

30.

3l.
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Carbon dioxide is formed in the complete combustion of a fuel.
Carbon monoxide is formed in the incomplete combustion of a fuel, .

‘Which statement is true for both of these gases?

A
B
Cc
D

both gases are toxic to animals
carbon monoxide is an element and carbon dioxide is a compound

neither compound will burn in air
carbon dioxide gives a milky precipitate when bubbled into limewater, but

carbon monoxide does not

Ethanol may be used as a fuel because it

A

B
C
D

has a high heat of combustion.
is easily converted to carbon.
is easily converted to ethane.
has a low heat of formation.

Which statement is generally true about metallic and non-ﬁwtallic elements?

U'nw:u

solid, non-metallic elemenits are dull looking
non-metallic elements are good conductors of electricity
metallic elements are poor conductors of heat

metallic elements have low melting points

The cathode, used in the extraction of aluminium from bauxite, is made of

TCOowx

copper
mercury
iron

carbon .

Which period of the Periodic Table contains tin?

A
B
C
D

Period 1
Period 3
Period 4
Period 5

[Turn over
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32. The elements in which Group of the Periodic Table can all have a valency of -1?

5 A Group [

; B Group II

: C Group VII
D Group VII

33. Which metal element may have a valency of +2 or +37

A aluminium

B copper

C iron

D mercury
: 34, When a mixture of substaxiccs reacts chemically, what does an increase in
| temperature indicate?

d A bonds in the reactants are broken
B the reactants contain less energy than the products
! C the products contain less energy than the reactants
: D heat energy is being absorbed during the reaction
; 35. Which pure substance will turn anhydrous copper sulfate from the colour white to the
colour blue? -
A alcohol
B bromine
Cc ether
D water
36. Which substance may be responsible for the overgrowth of plant life in ponds and
rivers?
A carbonates oo
B chlorides
c phosphates
D sulfates

]
|
3

8022
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38.

39,

41.
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Which statement about the volume occupied by 1mole of any gas at s.t.p., is correct?

o

volume varies with the density of the gas

volume always contains the same number of molecules

volume is inversely proportional to the relative molecular mass of the gas

the volume of any gas will always take the same time to diffuse through a

given hole under the same conditions

UOwy

Which condition exists when a reversible reaction has reached equilibrium?

A the two reactants are present in equal amounts .
B the amount of reactants and products are equal

C the forward and backward reaction rates are equal

D both the forward and backward reactions have stopped

The mineral aragonite is mined in The Bahamas.

Which element is contained in this mineral?

A calcium
B magnesium

i & potassium
D sodium

Which ion contains four oxygen atoms?

A sulfide
B sulfite
C sulfate
D thiosulfate

What happens to the reactivity of the alkaline earth metals Be, Mg, Ca, with water;
as the atomic number increases? ;

decreases
increases then decreases

A

B

C. increases
D remains the same

[Turn over
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42, What name is given to different forms of the same element that results from different
molecular structures?
A allotrope
B ‘amphoteric
S & isotope
D isomer
43. - Which process involves coating iron with zinc?
A anodizing
B galvanizing
C  oxidizing
D vulcanizing
44, | Which particle has the same electronic configuration as the neon atom?
A a fluorine atom
B an oxygen ion
C a potassium ion
D a sodium atom

45. What is the M, of Ca(N 0,),7?

A 3
B 9
C 102
D 164

8022
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The table gives some data about the relative amounts of gases in the atmosphem.-
Use this information to answer questions 46 and 47.

46.

47.

48.

49.

50.

8022

gases amount in parts per million
A | carbon dioxide 4 000
B | carbon monoxide 350
C | ozone 120
LD sulfur dioxide 1200
Which substance is mainly responsible for ,
global warming? A B C D
Which substance is responsible for acid rain? A B C D

 Which of these ions causes hardness of water?

A K*and Na+

B Ca™and Mg®
C Fe?* and AP+
D Cl'- and 0%

In a tourism-based country like The Bahamas, which substances are the more serious
air pollutants?

A carbon dioxide and carbon monoxide
B methane and polymers

C nitrates and sulfur dioxide

D

oxides of nitrogen and other automobile exhaust gases

What is the percentage amount of phosphorus in a 20-10-8 fertilizer?

A 8%
B 10%
C - 20%
D 62%

END]
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